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1. BEEBEOH
(1) BFINIEE
OZmLE 3,370,000 2,460,000 910,000
NEJ-F= 3,010,000 2,170,000 840,000
—REHLES 360,000 290,000 70,000
@ZmE £ 0 0 0
ZHMEHEESE 0 0 0
€)1 E 17 12,338 A 12,321
ZEF B 17 12 5
HUNE 0 12,326 A 12,326
REINAEET 3,370,017 2,472,338 897,679
(2) BEEHA
BEE 2,587,900 2,006,916 580,984
1% B R 960,000 600,000 360,000
REXABE 894,000 858,564 35,436
BIEEME 75,457 56,357 19,100
HERE 173,776 155,787 17,989
ENRI S A E 34,260 0 34,260
et 49,390 15,222 34,168
ECE b 0 50,341 A 50,341
RE 42,000 0 42,000
E 351,000 256,950 94,050
HE 8,017 13,695 A 5678
EEE 396,307 349,026 47,281
REXABE 223,500 214,641 8,859
BIEEME 18,865 14,090 4,775
HERE 74,476 66,766 7,710
FNRI S A2 6,683 6,524 159
et 12,347 12,586 A 239
RE 18,000 0 18,000
£1E 39,000 28,550 10,450
HE 3,436 5,869 A 2,433
REBRE 2,984,207 2,355,942 628,265
LR EEREE 385,810 116,396 269,414
2. BENMEROL
(1) BEsIRIEEET 0 0 0
(2) BENEREEH 0 0 0
LR E ISR 0 0 0
3. LU — B IE kBT EEREE 385,810 116,396 269,414
—RERBMEHERS 968,556 852,160 116,396
—RIERB EHRES 1,354,366 968,556 385,810
I $5%E EBREE R DR
ZHMETE 0 400,000 A 400,000
—HRIERBAE~DIREEE 0 0 0
L BAHE T IF bR BA E 1 48 0 400,000 A 400,000
EEERMEDREES 2,400,000 2,000,000 400,000
IEEERMERRES 2,400,000 2,400,000 0
I ERMERRES 3,754,366 3,368,556 385,810






